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QUESTION 63 
A vSphere administrator has multiple virtual machines running on a VMFS datastore. 
Which setting prioritizes the disk access for the virtual machines? 

 
A. Disk Shares 

B. Disk type 

C. Disk Mode 

D. Hard disk 

Correct Answer: A 

QUESTION 64 
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An administrator need to migrate a powered off virtual machine to another cluster with no shared storage. 
Which option should the administrator select for a successful migration? 

 
A. Change storage only 

B. Migrate virtual machines(s) to a specific datacenter 

C. Change computer resource only 

D. Change both compute resource and storage 

 
Correct Answer: D 

 
QUESTION 65 
An alarm is triggered in vSphere Client due to failure of a host in a cluster. The host has not returned to 
normal state, but the administrator wants to clear the alarm. 
Which sequence of steps should the administrator take to accomplish this goal? 

 
A. Host > Configure > Alarm Definitions > select an alarm > Delete alarm 

B. Host > Monitor > Issues and Alarms > Triggered Alarms > select alarm > select Acknowledge 

C. Host > Monitor > Issues and Alarms > Triggered Alarms > select alarm > select Reset to Green 

D. Host > Monitor > Skyline Health 

 
Correct Answer: C 

 
QUESTION 66 
A virtual infrastructure operator needs to migrate a virtual machine (VM). 

 

 

Which action can the operator take to overcome the error message? 

 
A. Select a different datastore for the VM. 

B. Select a cluster that has access to additional storage space. 

C. Change the virtual disk format to Thick provision Eager Zeroed. 

D. Select a different ESXi host for the VM 

 
Correct Answer: A 

 
QUESTION 67 
A VMware administrator monitoring a project has been advised to run the compute health check using the 
vSphere 7 client to monitor the ESXi hosts health. 
How should the administrator approach this task? 
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A. Menu > Administrator > Deployment > System Configuration 

B. Host > Monitor > Skyline Health > Expand Online Health Connectivity > Compute Health Checks > 
Reset 

C. Host > Monitor > Events 
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D. Host > Monitor > Issues and Alarms 

 
Correct Answer: B 

 

QUESTION 68 
Which sequence of steps must a vSphere operator take to create an NFS datastore for a host, a cluster, or 
a data center? 

 
A. Right-click on an ESXi host, select Storage > New Datastore 

B. From the actions drop-down menu, select NFS > New datastore 

C. From the datastore tab, select NFS > New datastore 

D. Select an ESXi host, click the Configure tab > Storage Devices 

 
Correct Answer: A 

 
QUESTION 69 
Which feature mist an administrator use to revert back to the previous of a VM template? 

 
A. VM Snapshots 

B. Content Library 

C. VMware Tools 

D. Storage vMotion 

 
Correct Answer: B 

 
QUESTION 70 
Which two characteristics describe vSphere HA? 

 
A. vSphere HA restarts VMs if their host becomes isolated in the management network. 

B. In response to datastore accessibility failures, vSphere HA restarts VMs on unaffected hosts. 

C. vSphere HA performs load balancing across the hosts in a cluster to prevent resources contention 

D. By Keeping a secondary VM running at all times, vSphere HA protects VMs from data loss. 

E. When vCenter Server experiences downtime, vSphere HA restarts VMs on unaffected hosts. 

 
Correct Answer: AB 

 
QUESTION 71 
An administrator is tasked with evacuating a storage array because it has been replaced. 
Which feature meets this requirement? 

 
A. Predictive DRS 

B. Proactive HA 

C. Storage vMotion 

D. vSphere vmotion 

 
Correct Answer: C 

 
QUESTION 72 
Refer to the exhibit: After the "service 1.5" snapshot is deleted, which snapshot will be the current state for 
the virtual machine? 
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A. Photon-01 

B. Service 2 

C. Service 1.5 

D. Service 1 

 
Correct Answer: C 

 
QUESTION 73 
A vSphere cluster running a virtual machine with VMware HA and DRS enabled in fully automated mode is 
experiencing a catastrophic host failure. 
Which action can the administrator expect DRS to take? 

 
A. It will move the VM to a host on a different cluster with enough resources after the HA rstart. 

B. It will pro-actively move the virtual machine to a different host. 

C. It move the VM to a host in the same cluster with enough resources after the HA restart. 

D. It will pro-actively move the virtual machine to a different cluster. 

 
Correct Answer: C 

 
QUESTION 74 
Which two configuration options can only be enabled on distributed switches? 

 
A. NetFlow 

B. Port Mirroring 

C. NIC Teaming 

D. Load Balancing 

E. VLAN IDs 

 
Correct Answer: AB 

 
QUESTION 75 
What does it mean if a virtual machine (VM) has a high RDS score? 

 
A. It requires access to more resource as soon as possible. 

B. It has poor performance in the current host. 
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C. It is in conflict over access to a shared resource. 

D. Its resource requirements are met most of the time. 
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Correct Answer: A 
 

QUESTION 76 
An administrator wants to deploy virtual machines on Windows 10 desktop. 
What option accomplishes this goal? 

 
A. Add additional network interface 

B. Install Windows patches 

C. Install a Type-2 hypervisor 

D. Add an additional CD-ROM 

 
Correct Answer: C 

 
QUESTION 77 
Which storage protocol is supported by vSphere? 

 
A. NFS 

B. FTP 

C. CIFS 

D. SMB 

 
Correct Answer: A 

 
QUESTION 78 
An administrator is browsing datastore and notices a file with a .vmtx extension. 
What are the contents of this file? 

 
A. Virtual machine snapshot 

B. Virtual disk characteristics 

C. Template configuration 

D. Virtual machine configuration 

 
Correct Answer: C 

 
QUESTION 79 
Which action should an administrator use to restore a virtual machine to a previous state? 

 
A. Consolidate snapshot 

B. Revert to the latest snapshot 

C. Delete all snapshot 

D. Take snapshot 

 
Correct Answer: B 

 
QUESTION 80 
Which selection is optional when deploying a new virtual machine in the vSphere Client? 

 
A. Compute resource 

B. Guest OS 

C. Folder 

D. Data center 

 
Correct Answer: D 
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QUESTION 81 
What is the purpose of the VMware Tools balloon driver? 

 
A. To improve a VM's memory management capabilities 
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B. To provide a high-resolution display for the VM's console 

C. To improve a VM's network performance 

D. To provide fast and efficient communication between VMs 

 
Correct Answer: A 

 
QUESTION 82 
An administrator has configured a Linux virtual machine and found that it does not have network 
connectivity. The administrator notices this when trying to ping the default gate way and nothing comes 
back. The administrator needs to verify that the guest operating system is configured properly. 
What is the first step that the administrator should take to meet this goal? 

 
A. Ping an outside source to see if you get a response 

B. Verify that VMware Tools has been loaded on the guest operating system 

C. Check that the virtual network adapter is present and enabled 

D. Confirm the link status of the virtual switch 

 
Correct Answer: C 

 
QUESTION 83 
An administrator has been tasked with associating multiple uplink adapters with a single switch that will 
share the load traffic. Which networking feature should the administrator configure? 

 
A. Distributed Port Group 

B. Host Proxy Switch 

C. NIC Teaming 

D. VLAN 

 
Correct Answer: C 

 
QUESTION 84 
A company has a few virtual machines running software XYZ that only support the current CPU type. With 
hardware refresh, the company wants leverage the new processor features for all VMs except for VMs 
Running software XYZ. 
Which feature meets this requirement? 

 
A. Per-VM EVC 

B. vSphere High Availability 

C. Cluster-Level EVC 

D. vSphere vmotion 

 
Correct Answer: A 

 
QUESTION 85 
An administrator needs to update an OS running on a virtual machine and wants to be able to revert to the 
previous state if any issues occure after the update. 
Which steps should be used in the vSphere Client to meet this requirement? 

 
A. Right click on the VM > Migrate 

B. Right click on the VM >Snapshots > take Snapshot 

C. Right click on the VM > Clone to Template 

D. Right click on the VM > Clone to virtual Machine 

 
Correct Answer: B 
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